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<Superelevation staStart="0" staEnd="295.550450344305">
<FullSuperSta=0</FullSuperSta=
<FullSuperelev=6</FullSuperelev=
<RunoffSta=295.550450344305 < /RunoffSta=
<AdverseSE=non-adverse</AdverseSE>

< fSuperelevation=>

<Superelevation staStart="450.550450344305" staEnd="482.93603298302">
<FullSuperSta>=450.550450244305</FullSuperSta>
<FullSuperelev>-4</FullSuperelev>
<RunoffSta=482.92603298302 < /RunoffSta=
<AdverseSE=non-adverse</AdverseSE>

< [Superelevation>

<Superelevation staStart="625.43603298302" staEnd="649.916193252348">
<FullSuperSta>=625.43603298202 < /FullSuperSta=
<FullSuperelev:>2</FullSuperelev=
<RunoffSta=649.9161932252348 < /RunoffSta=
<AdverseSE=non-adverse < /AdverseSE>

< [Superelevation>

<Superelevation staStart="824.916193252348" staEnd="929.75094387478">
<FullSuperSta>=824.916193252348</FullSuperSta>
=<FullSuperelev=-6</FullSuperelev>
<RunoffSta=929.75094387478 < /Runoffsta>
<AdverseSE=non-adverse < /AdverseSE>

</Superelevation>

<Superelevation staStart="1117.25094387478" staEnd="1287.01081619573">
<FullSuperSta=1117.25094387478 < /FullSuperSta>
=<FullSuperelev=6</FullSuperelev:=
<RunoffSta=1287.01081619573 < /RunoffSta=
<AdverseSExnon-adverse=/AdverseSE>

<[/Superelevation>

<Superelevation staStart="1442.01081619573" staEnd="1685.12665823213">
<FullSuperSta>=1442.01081619573 < /FullSuperSta>
=<FullSuperelev=-6</FullSuperelev>
<RunoffSta=1685.12665823213</RunoffSta=
< StartofRunoutSta=1745.126658232213 < /StartofRunoutSta=
<EndofRunoutSta=1765.12665823213 </EndofRunoutSta=
<AdverseSExadverse < fAdverseSE=

- «<Feature name="ReverseCrown">
<Property value="1725.12665823213" label="sta"/>

< /Feature=

< fSuperelevation=>
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8 32+09. 916193 2.000000 [ -2.000000 AN
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10 41+04. 916193 -6. 000000 6. 000000 /s
1" 46+09. 750944 -6. 000000 6. 000000 /
12 50+00. 000000 -1. 504060 1. 504060 /s
13 52+02. 250944 1.200000 | -1.200000 AN
14 55+17. 250944 6.000000 | -6.000000 AN
15 64+07.010816 6. 000000 [ -6.000000 AN
16 68+02. 010816 0.193548 | -0.193548 N
17 72+02. 010816 -6. 000000 6. 000000 /s
18 84+05. 126658 -6. 000000 6. 000000 /s
19 88+05. 126658 -2.000000 | -2.000000 VN
20 93+07. 408616 -2. 000000 [ -2.000000 VN
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